Homework Quiz 1, 6 Feb 2023 | e MA'13IM

1. Find an equation of a line in the form y = mz + b which has a slope of —3 and passes
through the point (—1,4). '
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2. Rationalize the numerator:
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5. Convert 135° to radian measure. ' '
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6. Evaluate the following:
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(f VB_eIOW is a unit circle. Put your answers next to the corresponding points on the unit
circle. ' ‘
(a) Point A corresponds to what angle in degree measure?

(b) Point B corresponds to what angle in radian measuré?
* (c) What are the coordinates of Point C?
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